Settings: Date Range: 11/13/2025 - 11/25/2025 Omit Salaried Omit No Hours Employee: All Employees Jobs: Default Job Code General Manager Server Host Cook Kitchen Manager Floor Manager Utility Dishwasher Busser Bartender Cashier CASHIER Asst Manager Accounting BARTENDER*

Data for: 11/13/2025 3:00:00 AM to 11/27/2025 2:59:59 AM

Sales: \$556.00	Claimed Tips	4.51	\$0.00
Server	\$3.50 Total	4.91 4.91	\$17.17 \$17.17
ob Title	Pay Rate		Total
Fields, Lolitha	Avg Payrate		\$13.00
	Grand Total		\$582.90
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
	Total	44.84	\$582.90
ob Title Cook	Pay Rate \$13.00	Hours 44.84	Total \$582.90
aulk, Jordan			
	Avg Payrate		\$14.24
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$1,159.91
Sales: \$0.00	Claimed Tips		\$0.00
	Total	81.45	\$1,159.91
Cook Cook - OT	\$14.00 \$21.00	78.65 2.80	\$1,101.07 \$58.84
ob Title	Pay Rate	Hours	Total
Oubuque, Dylan	J · j · j		,
	Grand Total Avg Payrate		\$369.83 \$11.59
Tips: \$258.11	Gratuity		\$0.00
Sales: \$2,266.39	Claimed Tips		\$0.00
Server	\$3.50 Total	31.92 31.92	\$111.72 \$111.72
ob Title	Pay Rate	Hours	Total
Cox, Emily			
	Avg Payrate		\$12.66
por 45-7005	Grand Total		\$440.49
Sales: \$2,413.51 Tips: \$249.92	Claimed Tips Gratuity		\$0.00 \$21.51
Calan A2 442 F4	Total	34.80	\$169.06
CASHIER	\$10.00	7.27	\$72.72
ob Title Server	Pay Rate \$3.50	Hours 27.53	Total \$96.35
Cook, Abigail			
	Avg Payrate		\$8.83
Tips: \$53.86	Gratuity Grand Total		\$89.20
Sales: \$488.77	Claimed Tips		\$0.00 \$0.00
	Total	10.10	\$35.34
ob Title Server	Pay Rate \$3.50	Hours 10.10	Total \$35.34
Clark, Whitney	D D	11	T-4-1
	Avg Payrate		\$14.53
	Grand Total		\$586.27
Sales: \$4,874.41 Tips: \$361.25	Claimed Tips Gratuity		\$0.00 \$23.77
Salas, \$4.074.41	Total	40.34	\$201.25
Asst Manager	\$12.00	2.03	\$24.35
BARTENDER* Server	\$10.00 \$3.50	6.59 31.72	\$65.87 \$111.03
ob Title	Pay Rate	Hours	Total
Brown, Emilyia			
	Avg Payrate		\$12.26
11ps: \$112.43	Grand Total		\$340.61
Sales: \$2,399.80 Tips: \$112.45	Claimed Tips Gratuity		\$0.00 \$103.30
	Total	27.78	\$124.86
Server BARTENDER*	\$3.50 \$10.00	23.53 4.25	\$82.34 \$42.52
ob Title	Pay Rate	Hours	Total
Britt, Cassandra			
	Avg Payrate		\$14.15
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$1,083.62
Sales: \$0.00	Claimed Tips		\$0.00
COOK - OT	Total	76.58	\$1,083.62
Cook Cook - OT	\$14.00 \$21.00	74.93 1.65	\$1,048.99 \$34.63
ob Title	Pay Rate	Hours	Total
Bonilla, Henry			,
	Grand Tota Avg Payrat		\$192.56 \$18.77
Tips: \$127.40	Gratuit		\$28.75
Sales: \$1,201.96	Claimed Tip		\$0.00
BARTENDER*	\$10.0 Tot a		\$0.77 \$36.41
Server	\$3.5	0 10.18	\$35.64
ob Title	Pay Rat	e Hours	Total
Bolin, Brittany	Avg Faylate		Ş13.94
	Grand Total Avg Payrate		\$167.20 \$15.94
Tips: \$98.00	Gratuity		\$32.50
	Claimed Tips		\$0.00
Sales: \$893.94	Total	10.49	\$30.7U
	\$3.50 Total	10.49 10.49	\$36.70 \$36.70

Tips: \$36.24	Gratuity Grand Total		\$0.00 \$53.41
Grant, Casey	Avg Payrate		\$10.89
lob Title	Pay Rate	Hours	Total
Cook	\$12.00 Total	4.95 4.95	\$59.35 \$59.35
Sales: \$0.00	Claimed Tips		\$0.00
Tips: \$0.00	Gratuity Grand Total		\$0.00 \$59.35
	Avg Payrate		\$12.00
Harris, Alexis	Pay Rate	Hours	Total
Server	\$3.50	10.86	\$38.00
Sales: \$1,290.64	Total Claimed Tips	10.86	\$38.00 \$5.00
Tips: \$79.83	Gratuity		\$35.42
	Grand Total Avg Payrate		\$158.25 \$14.58
vey, Hailey			7-1100
ob Title Server	Pay Rate \$3.50	Hours 51.60	Total \$180.59
CASHIER	\$10.00	6.49	\$64.94
Sales: \$4,242.83	Total Claimed Tips	58.09	\$245.53 \$0.00
Tips: \$338.27	Gratuity		\$0.00
	Grand Total Avg Payrate		\$583.80 \$10.05
Joiner, Brittany			
Job Title CASHIER	Pay Rate \$10.00	Hours 1.00	Total \$9.98
Server	\$3.50	7.97	\$27.89
Sales: \$849.13	Total Claimed Tips	8.97	\$37.86 \$0.00
Tips: \$122.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$159.86 \$17.83
Keyser, Ashlee			
l ob Title General Manager	Pay Rate \$14.00	Hours 6.66	Total \$93.17
BARTENDER*	\$10.00	4.23	\$42.33
Se rve r	\$3.50 Total	13.91 24.80	\$48.69 \$184.20
Sales: \$1,758.68	Claimed Tips	24.60	\$0.00
Tips: \$127.47	Gratuity Grand Total		\$0.00 \$311.67
	Avg Payrate		\$12.57
Locklear, China	Day Data	Harrina	Total
Server	Pay Rate \$3.50	Hours 32.48	Total \$113.67
BARTENDER*	\$10.00	14.02	\$140.23
CASHIER	\$10.00 Total	2.82 49.32	\$28.18 \$282.07
Sales: \$4,638.16	Claimed Tips		\$0.00
Tips: \$407.69	Gratuity Grand Total		\$13.23 \$702.99
NA C II	Avg Payrate		\$14.25
McCallum, Denali Job Title	Pay Rate	Hours	Total
Server	\$3.50	30.76	\$107.66
CASHIER	\$10.00 Total	9.19 39.95	\$91.92 \$199.59
Sales: \$3,039.03	Claimed Tips	00.00	\$0.00
Tips: \$244.64	Gratuity Grand Total		\$0.00 \$444.23
	Avg Payrate		\$11.12
McLeod, Diamond	Day Pate	Hours	Total
Server	Pay Rate \$3.50	Hours 14.63	\$51.20
Sales: \$993.08	Total	14.63	\$51.20
Tips: \$68.10	Claimed Tips Gratuity		\$0.00 \$0.00
	Grand Total		\$119.30
Mitchell, Miah	Avg Payrate		\$8.16
Job Title	Pay Rate	Hours	Total
Server	\$3.50 Total	22.58 22.58	\$79.02 \$79.02
Sales: \$1,439.20	Claimed Tips		\$0.00
Tips: \$116.81	Gratuity Grand Total		\$0.00 \$195.83
	Avg Payrate		\$8.67
Moore, Cedric	Pay Rate	Hours	Total
Cook	\$12.00	41.09	\$493.06
Sales: \$0.00	Total Claimed Tips	41.09	\$493.06 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total Avg Payrate		\$493.06 \$12.00
Pol, Annie	Avg rayrate		\$12.00
Job Ťitle	Pay Rate	Hours	Total
BARTENDER* Server	\$10.00 \$3.50	25.83 12.48	\$258.35 \$43.67
	Total	38.31	\$302.02
Sales: \$4,383.38	Claimed Tips		\$0.00

Tips: \$180.38	Gratuity Grand Total		\$0.0 \$482.4
Povole Lies	Avg Payrate		\$12.5
Revels, Lisa lob Title	Pay Ra	te Hours	Tota
Server	\$3.5		\$69.7
Sales: \$1,998.05	Tot Claimed Ti		\$69.7 \$0.0
Tips: \$127.01	Gratui		\$36.8
	Grand Tot Avg Payra		\$233.5 \$11.7
Scott, Hollie			*
lob Title	Pay Rate		Tot
Server CASHIER	\$3.50 \$10.00		\$102.2 \$118.8
GISTITEIX	Total		\$221.0
Sales: \$4,069.80	Claimed Tips		\$0.0 \$0.0
Tips: \$315.93	Gratuity Grand Total		\$536.9
	Avg Payrate		\$13.0
Scott, Jackson Job Title	Day Da	to Hours	Tot
General Manager	Pay Ra \$15.0		Tot: \$190.3
Server	\$3.5		\$30.0
Sales: \$772.71	Tot Claimed Ti		\$220.4 \$0.0
Tips: \$90.83	Gratui	ty	\$19.4
	Grand Tot Avg Payra		\$330.6 \$15.5
Scott, Joshua William			, 20.0
lob Title	Pay Rate	Hours	Tot
Cook	\$12.00 Total	44.46 44.46	\$533.5 \$533.5
Sales: \$0.00	Claimed Tips	. // -	\$0.0
Tips: \$0.00	Gratuity Grand Total		\$0.0 \$533.5
	Avg Payrate		\$333.3 \$12.0
Scott, Kennedy			
lob Title Server	Pay Ra		Tot: \$89.3
CASHIER	\$3.5 \$10.0		\$9.5 \$9.8
	Tot		\$99.1
Sales: \$2,449.90 Tips: \$179.96	Claimed Ti Gratui		\$0.0 \$0.0
	Grand Tot	al	\$279.1
C - 44 Ti	Avg Payra	te	\$10.5
Scott, Tim lob Title	Pay Ra	te Hours	Tot
General Manager	\$20.0	00 44.12	\$882.3
Sales: \$865.38	Tot Claimed Ti		\$882.3 \$0.0
Tips: \$16.00	Gratui		\$0.0
	Grand Tot Avg Payra		\$898.3 \$20.3
Smith, Sara	Avg rayla	ie	320.3
lob Title	Pay Rate	Hours	Tot
CASHIER	\$10.00	3.92	\$39.1
Server	\$3.50 Total	43.94 47.86	\$153.7 \$192.9
Sales: \$4,350.75	Claimed Tips		\$0.0
Tips: \$483.03	Gratuity Grand Total		\$75.6 \$751.6
	Avg Payrate		\$15.7
Stroud, Kayla			
I ob Title Server	Pay Rate \$3.50		Tot: \$200.7
CASHIER	\$10.00		\$10.5
Calaa, ĆF 922 F2	Total	58.40	\$211.2
Sales: \$5,832.53 Tips: \$468.89	Claimed Tips Gratuity		\$0.0 \$85.0
<u> </u>	Grand Total		\$765.1
Turnor Shaun	Avg Payrate		\$13.1
Turner, Shaun	Pay Rate	Hours	Tota
Cook	\$15.00	43.50	\$652.5
Sales: \$0.00	Total Claimed Tips	43.50	\$652.5 \$0.0
Tips: \$0.00	Gratuity		\$0.0
	Grand Total		\$652.5
West, Arnold	Avg Payrate		\$15.0
lob Title	Pay	Rate Hours	Tot
General Manager		\$0.00 24.31	\$0.0
Sales: \$536.78	Claime	Total 24.31 d Tips	\$0.0 \$0.0
Tips: \$41.00	Gr	atuity	\$0.0
	Grand Avg Pa		\$41.0 \$1.6
	Summary	.,	91.0
lob Code Total Hours	Regular Hours OT Hours To	tal Pay Regular Pay	
		1,862.55 \$1,862.55	
Server 532.16 BARTENDER* 55.01	55.01 0.00	5550.06 5550.06	50.00
BARTENDER* 55.01 Cook 336.86	332.41 4.45 \$	\$550.06 \$550.06 4,564.91 \$4,471.4	\$93.47
BARTENDER* 55.01	332.41 4.45 \$- 2.03 0.00		

TOTALS 1,058.43 1,053.98 4.45 \$8,613.82 \$8,520.35 \$93.47